
CHEMISTRY

BOOKS - MARVEL CHEMISTRY (HINGLISH)

CO-ORDINATION COMPOUNDS

Multiple Choice Questions

1. Coordination compounds are the compounds in

which the central metal atom is linked to atoms , ions

or molecules by

A. Covalent bonds

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_36gjBic3cjrZ


B. Co-ordinate bonds

C. Ionic and covalent bonds

D. Both ionic and co-ordinate bonds

Answer: B

Watch Video Solution

2. Complex compounds are mainly formed by

A. p-block elements

B. f-block elements

C. d-block elements

D. s-block elements

https://dl.doubtnut.com/l/_36gjBic3cjrZ
https://dl.doubtnut.com/l/_TZexMIMITw0V


Answer: C

View Text Solution

3. Which of the following statements is incorrect about

coordination compounds?

A. Co-ordination compounds and complexes are

synonym terms

B. Complexes always give ions in the solution

C. Complexes may or may not give ions in the

solution

https://dl.doubtnut.com/l/_TZexMIMITw0V
https://dl.doubtnut.com/l/_mIGx2mVkaDJi


D. Complex ion does not dissociate into its

component parts even in the solution

Answer: B

Watch Video Solution

4. According to Werner's theory, the secondary

valencies of the central metal atom correspond to its

A. Oxidation state

B. Co-ordination number

C. Any of the two (a) and (b)

D. Neither of the two

https://dl.doubtnut.com/l/_mIGx2mVkaDJi
https://dl.doubtnut.com/l/_Jsq8WlhrTwbB


Answer: B

Watch Video Solution

5. Carnallite is an ore of

A. Simple salt

B. Alum

C. Double salt

D. Co-ordinate compound

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Jsq8WlhrTwbB
https://dl.doubtnut.com/l/_N6DEnZamSerA


6. Copper sulphate dissolved in excess of KCN to give:-

A. 

B. 

C. 

D. CuCN

Answer: B

Watch Video Solution

Cu(CN)2

[Cu(CN)4]
3 −

[Cu(CN)4]
2 −

7. The number of chlorine atoms acting a ligands in the

complex  is[Co(en)2(H2O)Cl]Cl2

https://dl.doubtnut.com/l/_ielqWT8zrF0g
https://dl.doubtnut.com/l/_cn1JjRjw8jlg


A. 1

B. 3

C. 2

D. None of these

Answer: A

Watch Video Solution

8. In the complex , the co-ordination

sphere is

A. 

B. 

[Co(NH3)5Cl]Cl2

2Cl−

Co3 +

https://dl.doubtnut.com/l/_cn1JjRjw8jlg
https://dl.doubtnut.com/l/_SQXaXz8OnHT7


C. 

D. 

Answer: D

Watch Video Solution

(NH3)5Cl

[Co(NH3)5Cl]
2 +

9. Ethylenediamine is

A. Monodentate

B. Bidentate

C. Tridentate

D. Tetradentate

https://dl.doubtnut.com/l/_SQXaXz8OnHT7
https://dl.doubtnut.com/l/_TOo34BKbLM7E


Answer: B

Watch Video Solution

10. EDTA is a/an

A. Monodentate ligand

B. Bidentate ligand

C. Tridentate ligand

D. Hexadentate ligand

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_TOo34BKbLM7E
https://dl.doubtnut.com/l/_Xtw9GuYrKjo9


11.  is a/an

A. Monodentate ligand

B. Bidentate ligand

C. Tridentate ligand

D. Tetradentate ligand

Answer: A

Watch Video Solution

SCN −

12. Which of the following ligands can act as

hexadentate ligand ?

https://dl.doubtnut.com/l/_d4wS8V6flZ8c
https://dl.doubtnut.com/l/_0ewiRvazLNoJ


A. Ethylenediamine

B. EDTA

C. Acetylacetoriato

D. 1, 10-Phenanthroline

Answer: B

Watch Video Solution

13. Which one of the following acts as a neutral ligand ?

A. Carbonyl

B. Oxalato

C. Hydroxo

https://dl.doubtnut.com/l/_0ewiRvazLNoJ
https://dl.doubtnut.com/l/_CW5cQMEWxKjY


D. Cyano

Answer: A

Watch Video Solution

14. The number of anionic co-ordinating sites of EDTA

are

A. 2

B. 4

C. 6

D. None of these

https://dl.doubtnut.com/l/_CW5cQMEWxKjY
https://dl.doubtnut.com/l/_k7hoBUWM1wpT


Answer: B

View Text Solution

15. The more strong ligand is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl−

F −

I −

CN −

https://dl.doubtnut.com/l/_k7hoBUWM1wpT
https://dl.doubtnut.com/l/_SSR02WomyrnS


16. Ligands are :

A. Lewis acids

B. Lewis bases

C. Both

D. None of these

Answer: B

Watch Video Solution

17. An example of non ambident ligand is

A. −OCH3

https://dl.doubtnut.com/l/_Z6tpehEvdklx
https://dl.doubtnut.com/l/_NcS1lMv42Yoc


B. NCS

C. CN

D. None of these

Answer: A

View Text Solution

18. Chelating ligand among the following is

A. EDTA

B. Phen

C. Dipy

D. All the above

https://dl.doubtnut.com/l/_NcS1lMv42Yoc
https://dl.doubtnut.com/l/_EkVKuPAnsWAe


Answer: D

Watch Video Solution

19. The strongest ligand is

A. 

B. 

C. NO

D. 

Answer: C

Watch Video Solution

Cl−

F −

H2O

https://dl.doubtnut.com/l/_EkVKuPAnsWAe
https://dl.doubtnut.com/l/_YFlOm3MqMM5g


20. An example of bidentate ligand is

A. Ethylene triamine

B. Cyanide ion

C. Ethylene diamine

D. EDTA

Answer: C

Watch Video Solution

21. Which one of the following ligands form a chelate ?

A. Acetate

https://dl.doubtnut.com/l/_D7R3guZExYzI
https://dl.doubtnut.com/l/_TAp62fdE9AGc


B. Oxalate

C. Ammonia

D. Cyanide

Answer: B

View Text Solution

22. An ambidentate ligand is one which

A. is linked to the metal atom through two donor

atoms

B. has two donor atoms, but only one of them has

the capacity to form a co-ordinate bond [or a

https://dl.doubtnut.com/l/_TAp62fdE9AGc
https://dl.doubtnut.com/l/_74ienzURajZ9


sigma  bond]

C. has two donor atoms, but either of two can form

a co-ordinate bond

D. forms chelate rings

Answer: C

Watch Video Solution

(σ)

23.  serves as

A. Monodentate ligand

B. Chelating ligand

C. Bridging ligand

NH2 ⋅ NH2

https://dl.doubtnut.com/l/_74ienzURajZ9
https://dl.doubtnut.com/l/_z5ou33HDyHkh


D. Both (a) and (c )

Answer: D

Watch Video Solution

24. Which one of the following is NOT a ligand ?

A. 

B. 

C. 

D. 

Answer: D

PH3

NO+

Br−

BF3

https://dl.doubtnut.com/l/_z5ou33HDyHkh
https://dl.doubtnut.com/l/_zl2kNzDzuhw0


Watch Video Solution

25. In a coordination complex the negative groups or

neutral molecules attached to the central atoms are

termed as _______ .

A. charge of metal ion

B. ligands

C. co-ordination number

D. EAN

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_zl2kNzDzuhw0
https://dl.doubtnut.com/l/_AuBBYp95apIX


26. The coordination number of a central ion may be

obtained from

A. the number of co-ordinate bonds formed with

surrounding atoms

B. the number of ionic bonds formed with the

surrounding ions

C. the number of ions of opposite charge

immediately surrounding the specific ion

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_WPPYZLewtFhK


27. The co-ordination number of Cr in

 is

A. 2

B. 3

C. 4

D. 6

Answer: D

Watch Video Solution

[Cr(NH3)3(H2O)3]Cl3

https://dl.doubtnut.com/l/_WPPYZLewtFhK
https://dl.doubtnut.com/l/_nW0rklIDPiHW


28. What is the oxidation number of Fe in

 ?

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

K3[Fe(C2O4)3]

https://dl.doubtnut.com/l/_wsweGnjPsZNX


29. Which one of following hads oxidation number of

metal ion as 4 ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

KMnO4

K3[PtCl4]

K2MnO4

K2[PtCl6]

https://dl.doubtnut.com/l/_xWTYS1OogBX5


30. Out of the following which one has transition metal

atom in the oxidation state +2 ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K4[Fe(CN)6]

K2[Pt(CN)6]

K3[Fe(CN)6]

[Co(NH3)5Br]SO4

https://dl.doubtnut.com/l/_bwj0vlxNVzwu


31. The co-ordination number of Al is potassium

trioxalato aluminate (III) is

A. 3

B. 6

C. 8

D. None of these

Answer: B

Watch Video Solution

32. The oxidation state of Al in  isLiAlH4

https://dl.doubtnut.com/l/_K6lBZ3ahDop6
https://dl.doubtnut.com/l/_ddFzvqXwqfjz


A. zero

B. 1

C. 2

D. 3

Answer: D

Watch Video Solution

33. Th oxidation state of Co in  is

A. 

B. 

C. 

[Co(EDTA)] − 1

+3

−3

+1

https://dl.doubtnut.com/l/_ddFzvqXwqfjz
https://dl.doubtnut.com/l/_NRry86O4xyFn


D. 

Answer: A

Watch Video Solution

+2

34. The donor site of  can be

A. C

B. S

C. NO

D. Both (b) and (c )

Answer: D

SCN −

https://dl.doubtnut.com/l/_NRry86O4xyFn
https://dl.doubtnut.com/l/_HsBFTp0rwg1Z


Watch Video Solution

35. What is the oxidation state of iron in haemoglobin

?

A. 

B. 

C. zero

D. None of these

Answer: A

Watch Video Solution

+2

+1

https://dl.doubtnut.com/l/_HsBFTp0rwg1Z
https://dl.doubtnut.com/l/_VxdlQoh2ZcFO


36. The co-ordination number of Ni in the complex

 is

A. 1

B. 2

C. 3

D. 6

Answer: D

Watch Video Solution

[Ni(EDTA)] − 2

37. The oxidation state of Zn in  isK2[Zn(CNS)4]

https://dl.doubtnut.com/l/_0IAWR2mDq5y0
https://dl.doubtnut.com/l/_XaVzrFZhb2A1


A. Zero

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

+1

+2

38. The oxidation state of nickel in the complex

 is

A. 

B. Zero

Ni(CO)2(PPh3)

+1

https://dl.doubtnut.com/l/_XaVzrFZhb2A1
https://dl.doubtnut.com/l/_umDokuJAHfv7


C. 

D. None of these

Answer: B

Watch Video Solution

+2

39. The oxidation state of Fe in brown complex

 is

A. 

B. 

C. 

D. 

[Fe(H2O)5NO]SO4

+1

+2

+4

+3

https://dl.doubtnut.com/l/_umDokuJAHfv7
https://dl.doubtnut.com/l/_TTN5buvgeIit


Answer: B

Watch Video Solution

40. Co-ordination number of cobalt in 

is

A. 2

B. 6

C. 5

D. 4

Answer: B

Watch Video Solution

[Co(C2O4)3]
3 −

https://dl.doubtnut.com/l/_TTN5buvgeIit
https://dl.doubtnut.com/l/_OVvI3c0QqWjt


41. Oxidation number of Co in

 is

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

[Co(NH3)3(H2O)2Cl]
+

https://dl.doubtnut.com/l/_OVvI3c0QqWjt
https://dl.doubtnut.com/l/_XwWNSUHOZmP1


42. Metal ions which form the most stable complexes

have each of the following properties except

A. empty orbitals

B. at least one lone pair of electrons

C. large nuclear charge

D. small size

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ih2uiWrZEeHS


43. The number of ions produced from one molecule of

 in the aqueous solution will be

A. 3

B. 5

C. 4

D. 6

Answer: C

Watch Video Solution

[Pt(NH3)3Cl]Cl3

https://dl.doubtnut.com/l/_2Mv4ImJJqzP2


44. The compound which is not an organometallic

compound is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H5MgBr

C6H5Ti(OC3H7)2

C2H5MgBr

C2H5ONa

https://dl.doubtnut.com/l/_Hsc3E19SVqis


45. Complex forming tendency is more for the metal

ion

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Ca2 +

Co2 +

Ce2 +

Li+

46. An example of organometallic compound is

https://dl.doubtnut.com/l/_SfGHShnFpnO4
https://dl.doubtnut.com/l/_jRThwpUEZZb9


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3ONa

CH3CH2Li

CH3COONa

NaNH2

47. Which one of the following is likely to give a

precipitate with  solution ?

A. 

B. 

AgNO3

K4[Fe(CN)6]

K2[Pt(CN)5]

https://dl.doubtnut.com/l/_jRThwpUEZZb9
https://dl.doubtnut.com/l/_tK022U3veY2x


C. 

D. 

Answer: B

Watch Video Solution

K2[Pt(CN)5Cl]

K3Fe(CN)6]

48. Which one of the following cation does not form an

ammine complex with excess of ammonia ?

A. 

B. 

C. 

D. 

Ag+

Na+

Cu2 +

Cd2 +

https://dl.doubtnut.com/l/_tK022U3veY2x
https://dl.doubtnut.com/l/_cxV1WUOu6h80


Answer: B

View Text Solution

49. Addition of KI to  having

A. Blue colour

B. Violet colour

C. Red colour

D. Colourless nature

Answer: D

View Text Solution

HgI4

https://dl.doubtnut.com/l/_cxV1WUOu6h80
https://dl.doubtnut.com/l/_TKLD5TjhwWIy


50. The water-soluble complex is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ni(CO)4

Fe(CO)5

Cr(CO)6

K4(Fe(CN)6]

51. The number of ions formed when 

is dissolved in water is

[Cu(NH3)4]SO4

https://dl.doubtnut.com/l/_hyVQ6x9CEpbw
https://dl.doubtnut.com/l/_ixajjuTSWIdb


A. 1

B. 2

C. 4

D. zero

Answer: B

Watch Video Solution

52. The total number of ions furnished by

 in solution is

A. 5

B. 4

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_ixajjuTSWIdb
https://dl.doubtnut.com/l/_2yQK8P8CzmpA


C. 3

D. 6

Answer: A

Watch Video Solution

53. Which one of following hads oxidation number of

metal ion as 4 ?

A. 

B. 

C. 

D. 

KMnO4

K3[PtCl4]

K2MnO4

K2[PtCl6]

https://dl.doubtnut.com/l/_2yQK8P8CzmpA
https://dl.doubtnut.com/l/_WPOhzU6NWsU9


Answer: D

Watch Video Solution

54. Primary and secondary valency of platinum in the

complex  are

A. 4, 6

B. 2, 6

C. 4, 4

D. 6, 4

Answer: B

Watch Video Solution

[Pt(en)2Cl2]

https://dl.doubtnut.com/l/_WPOhzU6NWsU9
https://dl.doubtnut.com/l/_8Xg5kIdBNE4g


55. The EAN of  is

A. 33

B. 34

C. 35

D. 36

Answer: C

Watch Video Solution

[Mn(Cl)6]
4 −

https://dl.doubtnut.com/l/_8Xg5kIdBNE4g
https://dl.doubtnut.com/l/_Ifm3kni9XsSu


56. If Z is atomic number of a metal, X is number of

electrons lost during the formation of the metal ion

from its atom, and Y is the number of electrons

donated by the ligands, then effective atomic number

(EAN) is

A. EAN = Z + X + Y

B. EAN = Z - X + Y

C. EAN = Z - X - Y

D. EAN = Z + X - Y

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_VhhMrkfhqQGM


57. A metal ion continues to accept electron pairs from

the ligands till the total number of electrons present

around the metal ion in the complex becomes becomes

equal to the atomic number of

A. next hlogen

B. next element

C. next transition metal

D. next insert gas atom

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nRgKUcTSDJtp
https://dl.doubtnut.com/l/_bMKxi8iM55HW


58. Ferrous ion have EAN equals to 36. How many

monodentate ligand can combine with it ?

A. 6

B. 4

C. 2

D. 1

Answer: A

Watch Video Solution

59. Which of the following complex does not obey EAN

rule ?

https://dl.doubtnut.com/l/_bMKxi8iM55HW
https://dl.doubtnut.com/l/_nFE9MaCT3OYp


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

[Fe(CN)6]
3 −

[Fe(CN)6]
4 −

Ni(CO)4

[Cu(NH3)4]
2 +

60. Which of the following complex obeys EAN rule ?

A. 

B. 

C. 

[Cu(NH3)4]
2 +

[Fe(CN)6]
3 +

[Pt(NH3)4]
2 +

https://dl.doubtnut.com/l/_nFE9MaCT3OYp
https://dl.doubtnut.com/l/_GidQFiswEUAG


D. 

Answer: D

Watch Video Solution

[Zn(NH3)4]
2 +

61. What is the effective atomic number of Zn (30) in

 ?

A. 36

B. 54

C. 86

D. 118

Zn(NH3)4Cl2

https://dl.doubtnut.com/l/_GidQFiswEUAG
https://dl.doubtnut.com/l/_GnyZOwvckPWL


Answer: A

Watch Video Solution

62. Effective atomic number of the central metal ion, Pt,

in the complex  is , ( the atomic no. of

Pt is 78)

A. 36

B. 54

C. 86

D. 118

Answer: C

[Pt(NH3)6]
4 +

https://dl.doubtnut.com/l/_GnyZOwvckPWL
https://dl.doubtnut.com/l/_7JTo42hSpEzv


Watch Video Solution

63. EAN of which complex match with atomic number of

Redon ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Pt(NH3)6]
4 +

[Zn(NH3)4]
4 −

[Co(NH3)6]
3 +

[Fe(CN)6]
4 −

https://dl.doubtnut.com/l/_7JTo42hSpEzv
https://dl.doubtnut.com/l/_F81Vl3IjmN6K
https://dl.doubtnut.com/l/_4c9KqWCkEzte


64. Suffix -O is added to the name of ligand when the

liuid is

A. positively charged

B. neutral (except water)

C. negatively chared

D. all of the above

Answer: C

Watch Video Solution

65. IUPAC name of  isK3[Fe(C2O4)3]

https://dl.doubtnut.com/l/_4c9KqWCkEzte
https://dl.doubtnut.com/l/_YLRFkHwJ3SFu


A. Potassium ferroxalate

B. Potassium ferroxalate

C. Potassium trioxalate ferrate (II)

D. Potassium trisoxalato ferrate (III)

Answer: D

Watch Video Solution

66. Diamine silver (I) ion is

A. 

B. 

C. 

[Ag(NH3)2]
+

[Ag(NH3)]3 +
NH3

[Ag(NH3)2]
3 +

NH3

https://dl.doubtnut.com/l/_YLRFkHwJ3SFu
https://dl.doubtnut.com/l/_dpzOZTWTRGru


D. None of these

Answer: A

Watch Video Solution

67. The correct name of the compound

, according to IUPAC system is

A. Cuprammonium nitrate

B. Tetraammine copper (I) nitrate

C. Tetraammine copper (II) nitrate

D. Tetraammine copper (III) nitrate

[Cu(NH3)4](NO3)2

https://dl.doubtnut.com/l/_dpzOZTWTRGru
https://dl.doubtnut.com/l/_j5DDPs6qRwcp


Answer: C

Watch Video Solution

68. The complex ions  and 

 are called

A. Gemetrical isomers

B. Linkage isomers

C. Ionization isomers

D. Co-ordination isomers

Answer: B

Watch Video Solution

[Co(NH3)5(NO2)]
2 +

[Co(NH3)5(ONO)]
2 +

https://dl.doubtnut.com/l/_j5DDPs6qRwcp
https://dl.doubtnut.com/l/_CcnmKfSuv9eJ


69. Geometrical isomerism in coordination compounds

is exhibited by

A. square planar and tetrahedral complexes

B. square planar and octahedral complexes

C. tetrahedral and octahedral complexes

D. square planar, tetrahedral and octahedral

complexes

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_CcnmKfSuv9eJ
https://dl.doubtnut.com/l/_ehKkmZMKUOcA
https://dl.doubtnut.com/l/_RayOjiFK6YPN


70. IUPAC name of  is

A. Potassium ferrocyanide (II)

B. Potassium hexaferrocyanate (III)

C. Potassium ferrohexacyanate (II)

D. Potassium hexacyanoferrate (III)

Answer: D

Watch Video Solution

K3[Fe(CN)6]

71. IUPAC name of  is

A. Pentaammine nitroto cobalt (III) chloride

∣∣Co(ONO)(NH3)5Cl2∣∣

https://dl.doubtnut.com/l/_RayOjiFK6YPN
https://dl.doubtnut.com/l/_w67YbnAFs3cD


B. Pentaammine nitro cobalt (III) chloride

C. Pentaammine nitroso cobalt (III) chloride

D. Pentaammine oxo-nitro cobalt (III) chloride

Answer: A

Watch Video Solution

72. The correct IUPAC name of potassium cuprochloride

is

A. Potassium copper (I) tetrachloride

B. Potassium tetrachloro cuprate (I)

C. Tetrachloro potassium cuprate (I)

https://dl.doubtnut.com/l/_w67YbnAFs3cD
https://dl.doubtnut.com/l/_S9IVlMiskvWI


D. Tetrachloro copper (I) potassiate

Answer: B

Watch Video Solution

73. The IUPAC name of the compound

 is

A. Dichloro bis (dimethyl amine) copper (II)

B. Dichloro bis (mthyl amine) cupper (II)

C. Dimethyl amine copper (II) chloride

D. bis (dimethyl amine) copper (II) chloride

[CuCl2(CH3NH2)2]

https://dl.doubtnut.com/l/_S9IVlMiskvWI
https://dl.doubtnut.com/l/_nWfJkQ9cZK2D


Answer: B

Watch Video Solution

74. According to IUPAC nomenclature sodium

nitroprusside is named as

A. Sodium pentacyanonitrosyl ferrate (III)

B. Sodium nitroferricyanide

C. Sodium nitroferrocyanide

D. Sodium petacyano nitrosyl ferrate (II)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nWfJkQ9cZK2D
https://dl.doubtnut.com/l/_oISKMlCsMPTJ


75. The correct name of  is

A. Tetraammine dichloro platinum (IV) tetrachloro

platinate (II)

B. Dichloro tetra ammine platinum (IV) tetrachloro

platinate (II)

C. Tetrachloro platinum (II) tetraammine platinate

(IV)

D. Tetrachloro platinum (II) dichloro tetraammine

platinate (IV)

Answer: A

∣∣Pt(NH3)4Cl2∣∣|PtCl4|

https://dl.doubtnut.com/l/_oISKMlCsMPTJ
https://dl.doubtnut.com/l/_Wbsfs64GTi6a


Watch Video Solution

76. The hypothetical complex chloro diaquatriammine

cobalt (II) chloride can be represented as

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[Co(NH3)3(H2O)3]Cl2

[Co(NH3)3(H2O)2]Cl2

[CoCl(NH3)3(H2O)2]Cl3

CoCl(NH3)3(H2O)2]Cl2

https://dl.doubtnut.com/l/_Wbsfs64GTi6a
https://dl.doubtnut.com/l/_BcvaiRxN50Hc
https://dl.doubtnut.com/l/_xZkQAgRQUawj


77. Formula of hexa-aquamangnnese (II) phosphate is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Mn(H2O)6](PO4)

[Mn(H2O)6]3
(PO4)

[Mn(H2O)6]3
(PO4)2

[Mn(H2O)6](PO4)3

78. Optical isomers have

A. same physical properties

https://dl.doubtnut.com/l/_xZkQAgRQUawj
https://dl.doubtnut.com/l/_FAZabYi301CE


B. same molecular formula

C. difference in action towards plane polarized light

D. all of the above

Answer: D

View Text Solution

79. Which one of the following compounds would

exhibit co-ordination isomerism ?

A. 

B. 

C. 

[Cr(H2O)6]Cl3

[Cr(NH3)6][Co(CN)6]

[Cr(en)3]NO2

https://dl.doubtnut.com/l/_FAZabYi301CE
https://dl.doubtnut.com/l/_oP4FHbqa3Nsh


D. none of these

Answer: B

View Text Solution

80. Of the following complexes which one will show

coordination isomerism?

A. 

B. 

C. 

D. 

[Cu(en)2Cl2]
+

[Co(en)2Cl2]Cl

[C(NH3)6][Co(en)3]

[Cr(NH3)6]Cl2

https://dl.doubtnut.com/l/_oP4FHbqa3Nsh
https://dl.doubtnut.com/l/_XNWwTuGRyFQ0


Answer: C

Watch Video Solution

81. The planar complex Mabcd gives

A. two geometrical isomers

B. two optical isomers

C. three optical isomers

D. three geometrical isomers

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_XNWwTuGRyFQ0
https://dl.doubtnut.com/l/_5MLpRsxyZs79


82. Which of the following complexes can form d and l

isomers ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

[Co(NH3)3Cl3]

[Co(NH3)4]
+ 2

Cis[Co(en)2Cl2]
+

Trans[Co(en)Cl2]

https://dl.doubtnut.com/l/_lUGcnJGbxcyz


83. Out of the following which will not show

geometrical isomerism?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Co(NH3)5NO2]Cl2

[Pt(NH3)2Cl2]

[Co(en)2Cl2]Cl

[Cr(NH3)4Cl2]Cl

84.  exhibitsK3[Fe(C2O4)3]

https://dl.doubtnut.com/l/_KNL15S6fAhUH
https://dl.doubtnut.com/l/_YzVHQ9bNeAkU


A. Ionisation isomerism

B. Geometrical isomerism

C. Optical isomerism

D. Co-ordination isomerism

Answer: C

View Text Solution

85.  exhibits

A. Ionisation isomerism

B. Linkage isomerism

C. Geometrical isomerism

[Co(NH3)4Cl2]Cl

https://dl.doubtnut.com/l/_YzVHQ9bNeAkU
https://dl.doubtnut.com/l/_HzMcCK1fFPHX


D. Optical isomerism

Answer: C

View Text Solution

86. The compounds  and 

 are examples of

A. Linkage isomerism

B. Hydrate isomerism

C. Ionisation isomerism

D. Co-ordination isomerism

[Cr(H2O)6]Cl3

[Cr(H2O)5C1]Cl2 ⋅ H2O

https://dl.doubtnut.com/l/_HzMcCK1fFPHX
https://dl.doubtnut.com/l/_mM52483hJ1uQ


Answer: B

View Text Solution

87. Cis platin is chemically

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

[Pt(NH3)4Cl2]

[Pt(NH3)2Cl2]

[Pt(NH3)4]Cl2

https://dl.doubtnut.com/l/_mM52483hJ1uQ
https://dl.doubtnut.com/l/_tPEE6kgRWut6


88. The compound  can exhibit

A. Linkage isomerism

B. Co-ordination isomerism

C. Both (a) and (b)

D. none of these

Answer: C

View Text Solution

Co ⋅ Cr ⋅ (CN)6(H2O)6

89. The number of hydrate isomers of 

are

CrCl3 ⋅ 6H2O

https://dl.doubtnut.com/l/_Vq8w7p52sxdf
https://dl.doubtnut.com/l/_gIdGnWrwzvnA


A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

90. Geometrical isomerism is shown by

A. Tetrahedral

B. Octahedral

C. Square planer

https://dl.doubtnut.com/l/_gIdGnWrwzvnA
https://dl.doubtnut.com/l/_iQeeeGAl6Q0x


D. Both (b) and (c )

Answer: D

View Text Solution

91. Which of the following has metal-metal bond ?

A. 

B. 

C. 

D. 

Answer: D

Ni(CO)4

Fe(CO)5

Cr(CO)6

Mn2(CO)10

https://dl.doubtnut.com/l/_iQeeeGAl6Q0x
https://dl.doubtnut.com/l/_1IaGB9smcoAT


Watch Video Solution

92. Cis-trans isomerism is exhibited by which one of the

following ?

A. 

B. 

C. 

D. None of them

Answer: D

Watch Video Solution

[Pd(NH3)3Cl]
+

[Co(NH3)5Cl]
2 +

[Fe(CN)6]
3 −

https://dl.doubtnut.com/l/_1IaGB9smcoAT
https://dl.doubtnut.com/l/_3U912ug9zhiw


93. Optical isomerism can be shown by the complex

A. 

B. 

C. Both (a) and (b)

D. Neither (a) or (b)

Answer: D

View Text Solution

[Cu(NH3)4]
2 +

[Ni(H2O)4]
2 +

94. Square planar complex which shows geometrical

isomerism is

https://dl.doubtnut.com/l/_PUa0uCKQEsin
https://dl.doubtnut.com/l/_PNITkFAmCcFK


A. 

B. 

C. MABCD

D. 

Answer: C

View Text Solution

MAB3

MA4

MA3B

95. Which of the following types of octahedral

complexes does not show optical isomerism ?

A. 

B. 

MA2X2Y2

[M(AA)3]
n+

https://dl.doubtnut.com/l/_PNITkFAmCcFK
https://dl.doubtnut.com/l/_RaNrpN77CeNg


C. 

D. 

Answer: D

View Text Solution

[M(AA)2X2]
n+

[Pt(NH)3)4
]

2 +

96. The complex shown below can exhibit 

https://dl.doubtnut.com/l/_RaNrpN77CeNg
https://dl.doubtnut.com/l/_bmQHFIuJmswp


A. Optical isomerism only

B. Geometrical isomerism only

C. Both optical and geometrical isomerism

D. None of the above

Answer: C

View Text Solution

97. The complex ion  exhibits

A. cis-trans isomerism only

B. cis-trans isomerism and optical isomerism

C. cis-trans isomerism and linkage isomerism

[Co(en)2Cl2]
+

https://dl.doubtnut.com/l/_bmQHFIuJmswp
https://dl.doubtnut.com/l/_Qy3fOLobixGi


D. optical isomerism and linkage isomerism

Answer: B

View Text Solution

98. Which one of the following can show optical

isomerism ?

A. 

B. 

C. 

D. 

Na3[Cr(C2O4)3]

Cr[(NH3)6]Cl3

Na3[Fe(CN)6]

FeSO4 ⋅ 7H2O

https://dl.doubtnut.com/l/_Qy3fOLobixGi
https://dl.doubtnut.com/l/_IlUubqXlGrps


Answer: A

View Text Solution

99. The complex ions  and 

 are called

A. Linkage isomers

B. Ionisation isomers

C. Co-ordination isomers

D. Geometrical isomers

Answer: A

Watch Video Solution

[Co(NH3)5(NO2)]
2 +

[Co(NH3)5(ONO)]
2 +

https://dl.doubtnut.com/l/_IlUubqXlGrps
https://dl.doubtnut.com/l/_u0fNGfzvPQAI


100. The complex ion  has

A. Tetrahedral

B. Square planar

C. Both

D. None of these

Answer: B

Watch Video Solution

[Cu(NH3)4]
2 +

101. Hydrated copper sulphate is

https://dl.doubtnut.com/l/_u0fNGfzvPQAI
https://dl.doubtnut.com/l/_vqp3oq5cgFEc
https://dl.doubtnut.com/l/_jlD12075jKWq


A. Square planer

B. Tetrahedral

C. Octahedral

D. None of these

Answer: A

Watch Video Solution

102. Backbonding involes the fomation of

A.  bond

B. Co-ordinate bond

C.  bond

σ

π

https://dl.doubtnut.com/l/_jlD12075jKWq
https://dl.doubtnut.com/l/_n9AI2sI05VRt


D. None of these

Answer: B

Watch Video Solution

103. A complex involving  hybridisation has

A. Square planar geometry

B. A tetrahedral geometry

C. An octahedral geometry

D. Trigonal planar geometry

Answer: A

dsp2

https://dl.doubtnut.com/l/_n9AI2sI05VRt
https://dl.doubtnut.com/l/_kiBCfo7xpwpW


Watch Video Solution

104. Which of the following complex species involves

 hybridisation?

A. 

B. 

C. 

D. All of these

Answer: A

Watch Video Solution

d2sp3

[Fe(CN)6]
3 −

[Co(NH3)6]
3 +

[Co(H2O)6]
3 +

https://dl.doubtnut.com/l/_kiBCfo7xpwpW
https://dl.doubtnut.com/l/_2cWPn7LwF2UG


105. The ion which has a high spin  configuration is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

d6

[Co(NH3)6]
2 +

[CoF6]4 −

[Fe(CN)6]
4 −

[Co(H2O)6]
3 +

106. An octahedral complex is formed when

hybridisation is

https://dl.doubtnut.com/l/_gp0zCgA85P1E
https://dl.doubtnut.com/l/_4gD8nW56dDpJ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sp3

dsp3

sp3d

sp3d2

107. An octahedral complex is formed when hybrid

orbitals of the following type are involved

A. 

B. 

sp3

dsp3

https://dl.doubtnut.com/l/_4gD8nW56dDpJ
https://dl.doubtnut.com/l/_R6qLIB9BiIGI


C. 

D. 

Answer: D

Watch Video Solution

sp3d

sp3d2

108. Compare 

 


Which is/are correctly shaped ?

A. 1 and 2

(1) [Ag(NH3)2]
+

Diagonal

(2) [Zn(BH3)
4
]

2 +
Tetrahedral

(3) [Fe(CN)
6
]

3 −
Square planar

(4) [Ni(CN)
4
]

2 −
Octahedral

https://dl.doubtnut.com/l/_R6qLIB9BiIGI
https://dl.doubtnut.com/l/_7L0u4NCg8Ti2


B. 2 and 3

C. 1 only

D. 3 and 4

Answer: C

View Text Solution

109. Match List I with List II. Select the correct answer

using the codes given below the lists. 

https://dl.doubtnut.com/l/_7L0u4NCg8Ti2
https://dl.doubtnut.com/l/_QtuXyGXdIpTf


A. (1) - (e ), (2) - (c ), (3) - (a), (4) - (b)

B. (1) - (a), (2) - (e ), (3) - (b), (4) - (c )

C. (1) - (d), (2) - (b), (3) - (a), (4) - (c )

D. (1) - (d), (2) - (e ), (3) - (c ), (4) - (b)

Answer: A

View Text Solution

List I List II

Molecules/Ions Molecular Shape

(1)[Ag(NH3)2]
+

(a)  Trigonal prymidal

(2)[In(CH3)3]3
(b)  Trigonal bipyramidal

(3)PF3 (c)  Triangular planer

(4)[Sb(CH3)3Cl2] (d)  Octahedral

(e)  Linear

https://dl.doubtnut.com/l/_QtuXyGXdIpTf


110.  is high spin complex. What is the hybrid

state of Co atom in the complex?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K3CoF6

d2sp3

dsp2

sp3d

sp3d2

111. Which complex has square planar structure ?

https://dl.doubtnut.com/l/_ovXbjKDG3s81
https://dl.doubtnut.com/l/_VapRl5qy12mu


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Ni(CO)4]

[NiCl4]2 −

[Ni(CN4]2 −

[Fe(CO)5]

112. A complex involving  hybridisation has

A. a square planar complex

B. a tetrahedral geometry

C. an octahedral geometry

dsp2

https://dl.doubtnut.com/l/_VapRl5qy12mu
https://dl.doubtnut.com/l/_vOIT2gN49egO


D. trigonal planar geometry

Answer: A

Watch Video Solution

113. The paramagnetic ion among the following is

A. 

B. 

C. 

D. All the above

Answer: B

[Ni(CN)4]
2 −

[Mn(CN)6]
4 −

[Zn(NH3)4]
2 +

https://dl.doubtnut.com/l/_vOIT2gN49egO
https://dl.doubtnut.com/l/_2XOvonLGMDZD


Watch Video Solution

114. The complex ion  has

A. Square planar and diamagnetic

B. Square planar and parmagnetic

C. Tetrahedral and diamagnetic

D. Tetrahedral and parmagnetic

Answer: B

Watch Video Solution

[Cu(NH3)4]
2 +

https://dl.doubtnut.com/l/_2XOvonLGMDZD
https://dl.doubtnut.com/l/_oQopyL8ojl2T


115. Which of the following are diamagnetic? 

(I)  


(II)  


(III)  


(IV)  


Select the correct answer using the codes given below:

A. 1, 2 and 4

B. 1, 3 and 4

C. 2 and 3

D. 1 and 4

Answer: B

Watch Video Solution

K4[Fe(CN)6]

K3[Cr(CN)6]

K3[Co(CN)6]

K2[Ni(CN)4]

https://dl.doubtnut.com/l/_LDNYVyLRckEX


116.  orbitals are proposed in

A. Crystal field theory

B. Pauling theory

C. Lewis theory

D. Sidwick theory

Answer: A

Watch Video Solution

eg

https://dl.doubtnut.com/l/_LDNYVyLRckEX
https://dl.doubtnut.com/l/_CwtmKIY2M3DN


117. Which of the following atomic orbital of the metal

cation are considered in CFT ?

A. s

B. p

C. d

D. f

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CaWC9HsrGWpm


118. which of the following cannot be explained by CFT

?

A. Electrovalency

B. Covalency

C. Secondary valency

D. Oxidation number

Answer: B

View Text Solution

119.  is[CoCl(NH3)5]
2 +

https://dl.doubtnut.com/l/_11mTa8YbsFnD
https://dl.doubtnut.com/l/_Zlc6HthGFdGj


A. Violet

B. Yellow

C. Blue

D. Red

Answer: A

Watch Video Solution

120. Which of the following is purple in colour ?

A. 

B. 

C. 

[Cu(H2O)4]
2 +

[Ti(H2O)6]
3 +

[Co(NH3)6]
2 +

https://dl.doubtnut.com/l/_Zlc6HthGFdGj
https://dl.doubtnut.com/l/_PzTAKCmT27yh


D. 

Answer: C

View Text Solution

Ni(CO)4

121. Yellow coloured complex formed wioth  is

treated with  and acetic acid is

A. 

B. 

C. 

D. 

Co3 +

KNO2

Co[K2(NO2)6]

Co[K2(NO2)2]

K2[Co(NO2)4]

K3[Co(NO2)6]

https://dl.doubtnut.com/l/_PzTAKCmT27yh
https://dl.doubtnut.com/l/_PT478FoQ3lRu


Answer: D

Watch Video Solution

122. Which is colourless of the following ?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Cu2Cl2

CuSO4 ⋅ 5H2O

Cu(CH3COO)4 ⋅ H2O

[Cu(NH3)4]SO4 ⋅ 4H2O

https://dl.doubtnut.com/l/_PT478FoQ3lRu
https://dl.doubtnut.com/l/_ZfBHBgrUpo6q


123. Which of the following complex will not show

colour ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

[Cr(NH3)6]Cl3

K3[V F6]

[Sc(H2O)6]
3 +

[NiCl4]2 −

https://dl.doubtnut.com/l/_yCzGtAfrif3m


124. Ligand(s) with lone pair of elecftron(s) with vacant

orbital to receive back the electrons donated to the

metal is/are

A. CO

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2O

NH3

F −

https://dl.doubtnut.com/l/_gcBIMnaRD79e


125. When dimethylglyoxime is added to , which

of the following statements or observations is wrong ?

A. Red, insoluble precipitate results

B. The above precipitate is ionic in character

C. The above precipitate is a chelate complex

D.  ions do not behave as  do with

dimethylglyxime

Answer: B

Watch Video Solution

Ni2 +

Co2 + Ni2 +

https://dl.doubtnut.com/l/_J0Ow1P4BSVGj


126. For the same metal ion stability constant is more

for the ligand

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

I −

Cl−

F −

127. The more stable complex among the following is

https://dl.doubtnut.com/l/_ZPeSm2oGbA0C
https://dl.doubtnut.com/l/_mMdPh1uEsPxZ


A. 

B. 

C. 

D. None of these

Answer: C

View Text Solution

[Fe(H2O)6]
2 +

[Mn(H2O)6]
2 +

[Fe(H2O)6]
3 +

128. The value of stability constant depends upon

A. the charge on the central metal ion

B. nature of the ligand

C. chelation

https://dl.doubtnut.com/l/_mMdPh1uEsPxZ
https://dl.doubtnut.com/l/_wLfNWnZDXdP1


D. all of the above

Answer: D

View Text Solution

129. Which one of the following statements is incorrect

?

A. Greater the stability constant of a complex ion,

greater is its stability

B. Greater the charge on the central metal ion,

greater is the stability of the complex

https://dl.doubtnut.com/l/_wLfNWnZDXdP1
https://dl.doubtnut.com/l/_h8j98ln7LhTR


C. Greater the basic character of the ligand, the

greater is the stability of the complex

D. Complexes have low stability constants

Answer: D

Watch Video Solution

130. Which metal ion forms the most stable metal -

EDTA chelate out of the following ?

A. 

B. 

C. 

Ba2 +

Zn2 +

Sr2 +

https://dl.doubtnut.com/l/_h8j98ln7LhTR
https://dl.doubtnut.com/l/_iBYHoDwW7CvQ


D. 

Answer: B

View Text Solution

Ca2 +

131. The forces stabilizing the alkali metal -cyclic

polyether complexes are

A. Covalent

B. Co-ordinate

C. Electrostatic

D. Vanderwaal's forces

https://dl.doubtnut.com/l/_iBYHoDwW7CvQ
https://dl.doubtnut.com/l/_PNjTcYjSUyKp


Answer: C

View Text Solution

132. Stability constant is more for the complex:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Co(NH3)6]
3 +

[Ag(NH3)2]
+

[Cu(NH3)4]
2 +

[Ag(CN)2]
− 1

https://dl.doubtnut.com/l/_PNjTcYjSUyKp
https://dl.doubtnut.com/l/_zOYyd6NDmluK


133. The stability constants of the complexes formed by

a metal ion  with  and en are

of the order of  and  respectively.

Then

A.  is the strongest ligand

B. en is the strongest ligand

C. these values cannot predict the strength of the

ligand

D. all the ligands are equally strong

Answer: A

View Text Solution

M 2 + NH3, CN − 1, H2O

1011, 1027, 1015 1018

CN −

https://dl.doubtnut.com/l/_MdiykOtEKCON


134. Cyanide process is used for the extraction of :

A. Sodium

B. Copper

C. Gold

D. Calcium

Answer: C

Watch Video Solution

135. Complexometric titrations involve use of

A. EDTA

https://dl.doubtnut.com/l/_DreAlkbjqvlg
https://dl.doubtnut.com/l/_dKBcq2XFcZus


B. 

C. 

D. All of these

Answer: A

View Text Solution

K2Cr2O7

KMnO4

136. The ion which is not tested by complexometric

titration is

A. 

B. 

C. 

Na+

Ba2 +

Cu2 +

https://dl.doubtnut.com/l/_dKBcq2XFcZus
https://dl.doubtnut.com/l/_14NklPUyNY3K


D. 

Answer: A

View Text Solution

Mg2 +

137. Chlorophyll contains

A. 

B. 

C. 

D. All the above

Answer: B

Co2 +

Mg2 +

Fe2 +

https://dl.doubtnut.com/l/_14NklPUyNY3K
https://dl.doubtnut.com/l/_1m7qKsIAHRxY


View Text Solution

138. The complex formed during the fuxing of negative

in photography is

A. 

B. 

C. 

D. None of these

Answer: C

View Text Solution

[Ag(S2O3] − 1

[Ag(S2O3)2]
2 −

[Ag(S2O3)2]
3 −

https://dl.doubtnut.com/l/_1m7qKsIAHRxY
https://dl.doubtnut.com/l/_uSSwGSuVEjr2


139. Nessler's reagent is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[HgI4] − 1

[HgI2] − 2

[HgI4] − 4

[HgI4]2 −

140. Iodide of Million's base is

A. H2N ⋅ Hg2O ⋅ HgI

https://dl.doubtnut.com/l/_qMPXojJkDquI
https://dl.doubtnut.com/l/_pkeSJ6AtdqXm


B. 

C. Both (a) and (b)

D. 

Answer: D

View Text Solution

H2HgO ⋅ HgI2C

H2N ⋅ HgO ⋅ HgI

141. The formula of sodium nitroprusside is

A. 

B. 

C. 

D. 

Na[Fe(CN)4(NO)2]

Na2[Fe(CN)5NO]

Na[Fe(CN)5NO]

Na3[Fe(CN)5NO]

https://dl.doubtnut.com/l/_pkeSJ6AtdqXm
https://dl.doubtnut.com/l/_hshRgXleZLoZ


Answer: B

Watch Video Solution

142. Solution of  and trialkyaluminium used as a

catalyst in polymerisation of olefins is called

A. Wilkinson's catalyst

B. Grignard rcagent

C. Ziegler Natta catalyst

D. Homogeneous catalyst

Answer: C

Watch Video Solution

TiCl2

https://dl.doubtnut.com/l/_hshRgXleZLoZ
https://dl.doubtnut.com/l/_lBGODjmSdLjK


143. The hardness of water is estimated by

A. Titrimetric method

B. Conductivity method

C. EDTA method

D. Distillation method

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_lBGODjmSdLjK
https://dl.doubtnut.com/l/_adEQDPZZFEKa


144. When ammonia is added to AgCl, the following

is/are correct observations /statements ?

A. AgCl dissolves

B. AgCl becomes back

C. A complex  is formed

D. Both (a) and (c )

Answer: D

Watch Video Solution

[Ag(NH3)2]Cl

https://dl.doubtnut.com/l/_MqcbLrv3AySX


145. Composition of complex formed when the ore

agentite is treated with NaCN is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Na3[Ag(CN)6]

Na[Au(CN)2]

Na[Ag(CN)2]

Na[Au(CN)6]

146.  and  ions can be separated by theirCu2 + Cd2 +

https://dl.doubtnut.com/l/_YWryS1wHUrMh
https://dl.doubtnut.com/l/_I97TlJJ3M0gg


A. Chelates

B. Oxalate complexes

C. Cyano complexes

D. Formation of sulphides

Answer: C

View Text Solution

147. Formation of complex compound can be detected

by

A. Change in solubility

B. Change in colour

https://dl.doubtnut.com/l/_I97TlJJ3M0gg
https://dl.doubtnut.com/l/_OhbHFq8TdzLP


C. Change in pH

D. All the above

Answer: D

Watch Video Solution

148. Vitamin  is a red coloured compound . It is a

complex of

A. Cobalt

B. Zinc

C. Vanadium

D. Nickel

B12

https://dl.doubtnut.com/l/_OhbHFq8TdzLP
https://dl.doubtnut.com/l/_6DhKJ1ljVAxi


Answer: A

Watch Video Solution

149. Cisplatin compound is used in the treatment of :

A. Malaria

B. Cancer

C. AIDS

D. Yellow fever

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6DhKJ1ljVAxi
https://dl.doubtnut.com/l/_zzCnTkk5KCZt


150. Which of the following is not co-ordination

compound ?

A. 

B. 

C. 

D. Potash alum

Answer: D

Watch Video Solution

K3[Fe(CN)6]

CoCl3 ⋅ 6NH3

K4[Fe(CN)]6

151. Ligands are :

https://dl.doubtnut.com/l/_saICJdeTZfhS
https://dl.doubtnut.com/l/_2iVF3dSq10PQ


A. neutral molecules only

B. negative ions only

C. never positive ions

D. negative or positive ions or neutral molecules

Answer: D

Watch Video Solution

152. What is chelating ligand ?

A. one lone pair

B. two lone pairs

C. three lone pairs

https://dl.doubtnut.com/l/_2iVF3dSq10PQ
https://dl.doubtnut.com/l/_QGiYcLbD0qYL


D. both (b) and (c )

Answer: D

Watch Video Solution

153. Which of the following is a chelate complex ?

A. Potassium ferrocyanide

B. Potassium tetracyanonickelate (II)

C. 

D. 

Answer: C

[Co(en)3]Cl

[Co(NH3)4Cl2]Cl

https://dl.doubtnut.com/l/_QGiYcLbD0qYL
https://dl.doubtnut.com/l/_95Ced3v8sxKL


Watch Video Solution

154. Consider 

(1) EDTA - Hexadentate ligand 

(2) Ethylene diamine - Bidentate ligand 

(3) Diethylene triamine - Tridentate ligand 

(4) Phen- Tridentate ligand 

Which is / are not correctly paired ?

A. 1 and 2

B. 3 and 4

C. Only 4

D. 1, 2 and 3

https://dl.doubtnut.com/l/_95Ced3v8sxKL
https://dl.doubtnut.com/l/_4xUddNH9i1JA


Answer: C

Watch Video Solution

155. Which ligand is expected to bidentate?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2O
2 −
4

CH3NH2

Br−

CH3C ≡ N

https://dl.doubtnut.com/l/_4xUddNH9i1JA
https://dl.doubtnut.com/l/_MHieuUXRYyAQ


156. In the compound lithium tetrahydridoaluminate,

the ligand is

A. H

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

H +

H −

https://dl.doubtnut.com/l/_4ZsHYtgC6cTU


157. What is the coordination number of  in 

 ?

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

Mn

[Mn2(CO)10]

+1

+2

+5

https://dl.doubtnut.com/l/_XIIRLM2F4ZeV


158. The brown ring complex compound is formulated

as . The oxidation state of  is

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

[Fe(H2O)5NO]SO4 Fe

159. Choose the correct statement.

https://dl.doubtnut.com/l/_M56z55JS0TGV
https://dl.doubtnut.com/l/_nRL4HeNraBNs


A. Co-ordination number has nothing to do with the

number of groups or molecules attached to the

central atom

B. Co-ordination number is the number of co-

ordinating sites of all the ligands connected to

the central atom or the number of co-ordinate

bonds formed by the metal atom with ligands

C. Werner's co-ordination theory postulates only

one type of valency

D. All are correct.

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_nRL4HeNraBNs


Watch Video Solution

160. The oxidation state of oxygen in  is

A. Zero

B. 

C. 

D. 

Answer: C

Watch Video Solution

O2[PtF6]

+1/2

+1

−1/2

https://dl.doubtnut.com/l/_nRL4HeNraBNs
https://dl.doubtnut.com/l/_xDw7oP8ZNiQ2


161. The solution of the complex  in

water will

A. give the tests of  ions

B. give the tests of  ions

C. give the tests of 

D. not give the tests of any of the above

Answer: A

Watch Video Solution

[Cu(NH3)4]SO4

SO
2 −
4

Cu2 +

NH3

https://dl.doubtnut.com/l/_cZZQPyJDu0aG


162. Which of the following will not give tests for free

transition metal ion is solution ?

A. 

B. 

C. Both of the above

D. None of the above

Answer: A

View Text Solution

K2[Ni(CN)4]

FeSO4 ⋅ K2SO4 ⋅ 24H2O

163. The complex  ionizes to giveCoCl3, 3NH3

https://dl.doubtnut.com/l/_tDlgjggT5uxY
https://dl.doubtnut.com/l/_fXe8r7whYqZf


A. one  ion

B. two  ion

C. three  ions

D. no  ion

Answer: D

Watch Video Solution

Cl−

Cl−

Cl−

Cl−

164. The number of ions furnished by  in

solution are

A. zero

B. 1

K2 ⋅ PtCl6

https://dl.doubtnut.com/l/_fXe8r7whYqZf
https://dl.doubtnut.com/l/_hJBuBzq0tWd6


C. 2

D. 3

Answer: D

Watch Video Solution

165. Which of the following is not an organo-metallic

compound ?

A. 

B. 

C. 

D. 

Ti(OC3H7)4

Sn(CH3)4

Ru(C5H5)2

(C2H5)2Zn

https://dl.doubtnut.com/l/_hJBuBzq0tWd6
https://dl.doubtnut.com/l/_o2qUY8Oc1q0E


Answer: A

Watch Video Solution

166. The number of ions formed when cuprammonium

sulphate is dissolved in water is

A. 1

B. 2

C. 4

D. zero

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_o2qUY8Oc1q0E
https://dl.doubtnut.com/l/_GUqQsZrJ8uRP


167. The number of groups acting only as secondary

valencies in the complex  are

A. 4

B. 2

C. 6

D. None of these

Answer: A

Watch Video Solution

[CoCl2(NH3)4]Cl

https://dl.doubtnut.com/l/_GUqQsZrJ8uRP
https://dl.doubtnut.com/l/_yQFRpWP1t2Ca


168. Consider (At. No. Cr=24, Ni=28, Pt=78, Pd=46) 

 


The correct pairing is

A. (1)-(a), (2)-(b), (3)-(c ), (4)-(d)

B. (1)-(b), (2)-(c ), (3)-(d), (4)-(a)

C. (1)-(d), (2)-(c ), (3)-(b), (4)-(a)

D. (1)-(d), (2)-(c ), (3)-(a), (4)-(b)

Answer: C

View Text Solution

Complex EAN

(1) [Cr(CN)
6
]

3 −
(a) 52

(2) Ni(CO)
4

(b) 86

(3) [PtCl6]
2 −

(c) 36

(4) [PdCl4]
2 −

(d) 33

https://dl.doubtnut.com/l/_wru61gli7xfC


169. The IUPAC name of  is

A. Chloro ammine bis (ethylenediamine) cobalt (II)

chloride

B. Ammine chlorobis (ethylenediamine) cobalt (II)

chloride

C. Ammine chlorobis (ethylenediamine) cobalt (III)

chloride

D. None of the above

Answer: C

Watch Video Solution

[CoCl(NH3)(en)2]Cl2

https://dl.doubtnut.com/l/_wru61gli7xfC
https://dl.doubtnut.com/l/_qhwTNxE9z8eT


170. The complexes

 are

:

A. Linkage isomerism

B. Ligand isomerism

C. Co-ordination isomerism

D. Hydrate isomerism

Answer: C

Watch Video Solution

[Pt(NH3)4][PtCl6] and [Pt(NH3)4Cl2][PtCl4]

https://dl.doubtnut.com/l/_qhwTNxE9z8eT
https://dl.doubtnut.com/l/_UPEOOrZGTz2u


171. A complex with the composition  is

found to have no geometrical isomers. Both A and B

are monodentate ligands. The structure of the complex

is

A. Linear

B. Tetrahedral

C. Square planer

D. Octahedral

Answer: B

View Text Solution

[MA2B2]X2

https://dl.doubtnut.com/l/_Y8KWa4hsm2OZ
https://dl.doubtnut.com/l/_O7PuIg0oCUCg


172. Hexafluorocobaltate (III) ion is an outer orbital

complex. The number of unpaired electrons present in

it is

A. 1

B. 4

C. 5

D. Unpredictable

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_O7PuIg0oCUCg


173. The brown ring complex compound is formulated

as . The oxidation state of  is

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Fe(H2O)5NO]SO4 Fe

+1

+2

+3

https://dl.doubtnut.com/l/_wCPyx0eBlCYD


174. From the stability constant (hypothetical vlues ) ,

given below, predict which is the most stable complex ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu2 + + 4H2O ⇔ [Cu(H2O)4]
2 +

, K = 9.5 × 108

Cu2 + + 4NH3 ⇔ [Cu(NH3)4]
2 +

, K = 4.5 × 1011

Cu2 + + 4CN − ⇔ [Cu(CN)4]
2 −

, K = 2.0 × 1027

Cu2 + + 2en ⇔ [Cu(en)2]
2 +

, K = 3.0 × 1015

https://dl.doubtnut.com/l/_7ZqWfzgt8aIv


175. Which of the following complex will give a white

precipitate on treatment with  solution ?

A. 

B. 

C. 

D. Both (a) and (b)

Answer: C

Watch Video Solution

BaCl2

[Cr(NH3)4SO4]Cl

[Co(NH3)4Cl2]NO2

[Cr(NH3)4Cl2]SO4

https://dl.doubtnut.com/l/_7ZqWfzgt8aIv
https://dl.doubtnut.com/l/_uOVP6jmEFb8r


176. The complex  will give white

ppt with

A. 

B. 

C. KI

D. None of these

Answer: A

Watch Video Solution

[Co(NH3)5Br]SO4

PbCl2

AgNO3

https://dl.doubtnut.com/l/_EI232QpjsuZP


177. Which of the following is most likely structure of

 if  of total chlorine of the compound

is precipitated by adding  to its aqueous

solution ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CrO3.6H2O 1/3

AgNO3

CrCl3 ⋅ 6H2O

[Cr(H2O)3Cl3](H2O)3

[CrCl2(H2O)4]Cl ⋅ 2H2O

[CrCl2(H2O)5]Cl2 ⋅ H2O

https://dl.doubtnut.com/l/_BuZTxPlFAB55
https://dl.doubtnut.com/l/_GL9emi20nhvR


178. A ligand may be regarded as

A. Lewis acid

B. Bronsted base

C. Lewis base

D. Bronsted acid

Answer: C

Watch Video Solution

179. The number of unidentate ligands in the complex

ion is called

A. Oxidation number

https://dl.doubtnut.com/l/_GL9emi20nhvR
https://dl.doubtnut.com/l/_KU9StwUOXSlS


B. Primary valency

C. Coordination number

D. EAN

Answer: C

Watch Video Solution

180. The IUPAC name of  is

A. Tetrachloronickel (II) - Tetraamminenickel (II)

B. Tetraamminenickel (II) - Tetrachloronickel(II)

C. Tetraamminenickel (II) - Tetrachloronickelate (II)

D. Tetrachloronickel (II) - Tetraamminenickelate (II)

[Ni(NH3)4][NiCl4]

https://dl.doubtnut.com/l/_KU9StwUOXSlS
https://dl.doubtnut.com/l/_AizbsPzyOJG2


Answer: C

Watch Video Solution

181. The coordination compounds,

 and 

 are examples of

A. Linkage isomerism

B. Coordination isomerism

C. Ionisation isomerism

D. Geometrical isomerism

Answer: B

[Co(NH3)6]
3 +

, [Cr(CN)6]
3 −

[Cr(NH3)6]
3 +

[Co(CN)6]
3 −

https://dl.doubtnut.com/l/_AizbsPzyOJG2
https://dl.doubtnut.com/l/_Uny1OKl9Vb4d


View Text Solution

182. Among the following , the coloured compound is

A. CuCl

B. 

C. 

D. 

Answer: C

Watch Video Solution

K3[Cu(CN)4]

CuF2

[Cu(CH3CN)4]BF4

https://dl.doubtnut.com/l/_Uny1OKl9Vb4d
https://dl.doubtnut.com/l/_gnF5DgbssPm9


183. The -bonded organometallic compound which

has ethane as one of its component is

A. Zeise's salt

B. Ferrocene

C. Dibenzene chromium

D. Tetraethyl tin

Answer: A

View Text Solution

π

184. Potassium ferrocyanide is a

https://dl.doubtnut.com/l/_Wja3UoMBf0GW
https://dl.doubtnut.com/l/_tE4VPMHk0pCD


A. Normal salt

B. Mixed salt

C. Double salt

D. Complex salt

Answer: D

Watch Video Solution

185. Zeigler-Natta catalyst is used for which type of

reaction ?

A. Hydrogenation

B. Polymerisation

https://dl.doubtnut.com/l/_tE4VPMHk0pCD
https://dl.doubtnut.com/l/_z5sS5ID9Mwwe


C. Oxidation

D. Rdeuction

Answer: B

Watch Video Solution

186. In a complex, the highest possible co-ordination

number is

A. 6

B. 12

C. 4

D. 8

https://dl.doubtnut.com/l/_z5sS5ID9Mwwe
https://dl.doubtnut.com/l/_h4ka9OBKjWYs


Answer: D

View Text Solution

187. The oxidation numbers of chromium in

 complex is

A. II

B. IV

C. VI

D. III

Answer: B

Watch Video Solution

Na2[CrF4O]

https://dl.doubtnut.com/l/_h4ka9OBKjWYs
https://dl.doubtnut.com/l/_CfY3mEqTWziE


188. Which would exhibit co-ordination isomerism ?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

[Cr(NH3)6]Co(CN)6]

[Co(en)2Cl2]

[Cr(NH3)6]Cl3

[Cr(en)2Cl2]

https://dl.doubtnut.com/l/_CfY3mEqTWziE
https://dl.doubtnut.com/l/_QUSADPtuqadR


189. One mole of complex compound 

gives 3 moles of ions on dissolution in water. One mole

of same complex reacts with two moles of  to

yield two moles of . The complex is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Co(NH3)5Cl3

AgNO3

AgCl(s)

[Co(NH3)5Cl]Cl2

[Co(NH3)3 ⋅ ZNH3

[Co(NH3)4Cl2]Cl ⋅ NH3

[Co(NH3)4Cl]Cl2 ⋅ NH3

https://dl.doubtnut.com/l/_l7vD7jhGdABD
https://dl.doubtnut.com/l/_Y6gvPYd2PMOU


190. A square planar complex is formed by

hybridisation of which atomic orbitals?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

s, px, py, dyz

s, px, py, dx2 −y2

s, px, py, dz2

s, py, pz, dxy

191. The type of isomerism present in intro pentaamine-

chromium chloride is:(III)

https://dl.doubtnut.com/l/_Y6gvPYd2PMOU
https://dl.doubtnut.com/l/_YadeRlmz1H05


A. optical

B. linkage

C. ionization

D. polymerisation

Answer: B

Watch Video Solution

192. Ammonia forms the complex  with

copper ions in alkaline solution but not in acid

solution. The reasons for it is:

[Cu(NH3)4]
2 +

https://dl.doubtnut.com/l/_YadeRlmz1H05
https://dl.doubtnut.com/l/_gnYHKSkayX6u


A. In acidic solutions protons coordinate with

ammonia molecules forming  ions and 

 molecules are not available

B. In alkaline solutions  is precipitated

which is soluble in excess of any alkali

C. Copper hydroxide is an amphoteric substance

D. In acidic solutions hydration protects copper ions

Answer: A

Watch Video Solution

NH
+

4

NH3

Cu(OH)2

https://dl.doubtnut.com/l/_gnYHKSkayX6u


193. One mole of complex compound 

gives 3 moles of ions on dissolution in water. One mole

of same complex reacts with two moles of  to

yield two moles of . The complex is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Co(NH3)5Cl3

AgNO3

AgCl(s)

[Co(NH3)3Cl3]2NH3

[Co(NH3)4Cl2]ClNH3

[Co(NH3)4Cl]Cl2

[Co(NH3)5Cl]Cl2

https://dl.doubtnut.com/l/_q3UJNhUnRHvR
https://dl.doubtnut.com/l/_gG2a4sXowTYM


194. The coordination number of a central metal atom

in a complex is determined by:

A. the number of ligands around a metal ion

bonded by sigma bonds

B. the number of only anionic ligands bonded to

the metal ion

C. the number of ligands around a metal ion

bonded by sigma and pi-bonds both

D. the number of ligands around a metal ion

bonded by pi-bonds

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gG2a4sXowTYM


Watch Video Solution

195. The correct order of magnetic moments (spin

values in B.M.) among is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[MnCl4]2 > [CoCl4] − 2 > [Fe(CN)6]
− 4

[Fe(CN)6]
− 4

> [CoCl4]2 − > [MnCl4]2 −

[Fe(CN)6]
4 −

> [MnCl4]2 − > [CoCl4]2 −

[MnCl4]2 − > [Fe(CN)6]
4 −

> [CoCl4]2 −

https://dl.doubtnut.com/l/_gG2a4sXowTYM
https://dl.doubtnut.com/l/_oUdPp0ryt4Mt


196. Which of the following compounds shows optical

isomerism?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Cu(NH3)4]
+ 2

[ZnCl4] − 2

[Cr(C2O4)3]
− 3

[Co(CN)6]
− 3

197. In , the  bond possesses:Fe(CO)5 Fe − C

https://dl.doubtnut.com/l/_hqJ5coxOYWZu
https://dl.doubtnut.com/l/_DJhQp19bJaJa


A. -character only

B. both  characters

C. ionic character

D. -character only

Answer: B

Watch Video Solution

π

σ and π

σ

198. The coordination number and the oxidation state

of the element 'E' in the complex 

(where  is ethylenediamine) are, respectively

A. 6 and 2

[E(en)2(C2O4)]NO2

(en)

https://dl.doubtnut.com/l/_DJhQp19bJaJa
https://dl.doubtnut.com/l/_nbF3N2qQWbZA


B. 4 and 2

C. 4 and 3

D. 6 and 3

Answer: D

Watch Video Solution

199. Which of the following has an optical isomer?

A. 

B. 

C. 

D. 

[CO(NH3)3Cl]
+

[CO(en)(NH3)2]
2 +

[CO(H2O)4(en)]
3 +

[CO(en)2(NH3)2]
2 +

https://dl.doubtnut.com/l/_nbF3N2qQWbZA
https://dl.doubtnut.com/l/_BQ9Wpx2N4kJY


Answer: D

Watch Video Solution

200. Which of the following pairs represents linkage

isomers?

A. 

B. 

C. 

D. 

[Cu(NH3)4][PtCl4] and [Pt(NH3)4][CuCl4]

[Pd(PPh3)2(NCS)2] and [Pd(PPh3)2](SCN)2]

[CO(NH3)5NO3]SO4 and [CO(NH3)5SO4]NO3

[PtCl2(NH3)4]Br2 and [PtBr2(NH3)4]Cl2

https://dl.doubtnut.com/l/_BQ9Wpx2N4kJY
https://dl.doubtnut.com/l/_WX1sKkQknT79


Answer: B

Watch Video Solution

201. The magnetic moment (spin only) of  is

A. 5.46 BM

B. 2.83 BM

C. 1.41 BM

D. 1.82 BM

Answer: B

View Text Solution

[NiCl4]2 −

https://dl.doubtnut.com/l/_WX1sKkQknT79
https://dl.doubtnut.com/l/_jvpNHs9anoWp


202. Which among the following will be named as

dibromidobis (ethylene diamine) chromium (III)

bromide?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Cr(en)3]Br3

[Cr(en)2Br2]Br

[Cr(en)Br4] −

[Cr(en)Br2]Br

https://dl.doubtnut.com/l/_JErXWS7FT9V2


203. Amongst :

A.  and  are diamagnetic and

 is paramagnetic

B.  and  are diamagnetic and 

 is paramagnetic

C.  and  are diamagnetic

and  is paramagnetic

D.  is diamagnetic and  and 

 are paramagnetic

Answer: C

Watch Video Solution

Ni(CO)4, [Ni(CN)4]
2 −

and NiCl
2 −
4

Ni(CO)4 NiCl
2 −
4

[Ni(CN4)]2 −

NiCl
2 −
4 [Ni(CN4)]2 −

Ni(CO)4

Ni(CO)4 [Ni(CN4)]2 −

NiCl
2 −
4

Ni(CO)4 NiCl
2 −
4

[Ni(CN4)]2 −

https://dl.doubtnut.com/l/_3lCjt9yejRxZ


204. Among the following, the compound that is both

paramagnetic and coloured is :-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

K2Cr2O7

(NH4)2(TiCl6)

CoSO4

K3[Cu(CN)4]

https://dl.doubtnut.com/l/_3lCjt9yejRxZ
https://dl.doubtnut.com/l/_nCHh9kGRN4dM


205. Which of the following is an organometallic

compound ?

A. Lithium methoxide

B. Lithium acetate

C. Lithium demethylamide

D. Methyl lithium

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_C2ZaSMQP6FR7


206. The complex ion which has no.'d' electrons in the

central metal atom is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[MnO4] −

[Co(NH3)6]
3 +

[Fe(CN)6]
3 −

[Cr(H2O)6]
3 +

https://dl.doubtnut.com/l/_jkd9IHMXHYfq


207. The pair of the compounds in which both the

metals are in the highest possible oxidation state is,

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Fe(CN)6]
3 −

, [Co(CN)6]
3 −

CrO2Cl2, MnO
−
4

TiO3, MnO2

[Co(CN)6]
3 −

, MnO3

https://dl.doubtnut.com/l/_uDLBoM6TQJeO


208. Which kind of isomerism is exhibited by octahedral

 ? .

A. Geometrical and Ionization

B. Geometrical and Optical

C. Optical and Ionization

D. Geometrical only

Answer: A

Watch Video Solution

[Co(NH3)4Br2]CI

209. Which of the following is a chelate complex ?

https://dl.doubtnut.com/l/_koRbmqoWTuvc
https://dl.doubtnut.com/l/_qkihhtLqtR1l


A. Potassium ferrocyanide

B. Potassium tetracyanonickelate (II)

C. 

D. 

Answer: C

Watch Video Solution

[Co(en)3]Cl3

[Co(NH3)4Cl2]Cl

210. Which one of following hads oxidation number of

metal ion as 4 ?

A. 

B. 

KMnO4

K3[PtCl4]

https://dl.doubtnut.com/l/_qkihhtLqtR1l
https://dl.doubtnut.com/l/_xtWYTiIoWmto


C. 

D. 

Answer: D

Watch Video Solution

K2MnO4

K2[PtCl6]

211. An example of bidentate ligand is

A. ac ac

B. Gly

C. Both (a) and (b)

D. Tripy

https://dl.doubtnut.com/l/_xtWYTiIoWmto
https://dl.doubtnut.com/l/_6WsErGr9Ad8T


Answer: C

Watch Video Solution

212. The EAN of  is

A. 33

B. 34

C. 35

D. 36

Answer: C

Watch Video Solution

[Mn(Cl)6]
4 −

https://dl.doubtnut.com/l/_6WsErGr9Ad8T
https://dl.doubtnut.com/l/_0FEapUNmRabE


213. An octahedral complex is formed when hybrid

orbitals of the following type are involved

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sp3

dsp3

sp3d

sp3d2

214. The value of stability constant depends upon

https://dl.doubtnut.com/l/_3noUXhkY2RPy
https://dl.doubtnut.com/l/_OWQTvmn0ZxWE


A. the charge on the central metal ion

B. nature of the ligand

C. chelation

D. all of the above

Answer: D

Watch Video Solution

215. The molecular formula of Wilkinson's catalyst used

in the hydrogenation of alkenes is

A. 

B. 

Co(CO)8

(Ph3P )3RhCl

https://dl.doubtnut.com/l/_OWQTvmn0ZxWE
https://dl.doubtnut.com/l/_AePpGCVkbIbf


C. 

D. 

Answer: B

Watch Video Solution

[Pt(NH3)2Cl2]

K[Ag(CN)2]

216. Which of the following is a neutral complex ?

A. 

B. 

C. 

D. 

[Pt(NH3)2Cl2]

[Co(NH3)6]Cl3

[Ni(NH3)6]Cl2

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_AePpGCVkbIbf
https://dl.doubtnut.com/l/_oDRpYzvizMw6


Answer: A

Watch Video Solution

217. The colour and magnetic nature of mangante ion

 is

A. green, paramagnetic

B. purple, diamagnetic

C. green, diamagnetic

D. purple, paramagnetic

Answer: A

Watch Video Solution

(MnO
2 −
4 )

https://dl.doubtnut.com/l/_oDRpYzvizMw6
https://dl.doubtnut.com/l/_llk9qHDowLaa


218. The correct charge on and co-ordination number

of  in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

'Fe' K3[Fe(CN)6]

+2, 4

+3, 6

+2, 6

+3, 3

https://dl.doubtnut.com/l/_llk9qHDowLaa
https://dl.doubtnut.com/l/_gEzUz67GXFEB


219. Which of the following co-ordinate complexes is an

exception to EAN rule ? 

(Given atomic number

)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Pt = 078, Fe = 26, Zn = 30, Cu = 29

[Pt(NH3)6]
4 +

[Fe(CN)4 −
6 ]

[Zn(NH3)4]
2 +

[Cu(NH3)4]
2 +

https://dl.doubtnut.com/l/_AghdwP0l0AiS


Test Your Grasp

1. Which of the following is odd one out ?

A. Potassium ferrocyanide

B. Potassium ferricyanide

C. Ferrous ammonium sulphate

D. Tetraamminecopper (II) sulphate

Answer: B

Watch Video Solution

2. An example for a double salt is

https://dl.doubtnut.com/l/_dsDZScsl4IJf
https://dl.doubtnut.com/l/_NYO4GQDvLCTI


A. Mohr's salt

B. Potassium ferricyanide

C. Cuprammonium sulphate

D. Cobalthexammine chloride

Answer: A

Watch Video Solution

3.  dissolves in  due to formation of

A. 

B. CuO

C. 

CuSO4 NH3

Cu(OH)2

[Cu(NH3)4(OH)2]

https://dl.doubtnut.com/l/_NYO4GQDvLCTI
https://dl.doubtnut.com/l/_C7JUod8OrZrD


D. 

Answer: D

Watch Video Solution

[Cu(NH3)4]SO4

4.  is a

A. Complex compound

B. Double salt

C. Neutral molecule

D. None of these

Answer: A

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_C7JUod8OrZrD
https://dl.doubtnut.com/l/_Ap1delOx3s1m


Watch Video Solution

5. Some salts although containing two different

metallic elements give test for one of them in solution.

Such salts are:

A. Normal salt

B. Complex

C. Double salts

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Ap1delOx3s1m
https://dl.doubtnut.com/l/_scgkF8E2L5iQ


6. The EAN of iron in  is

A. 34

B. 35

C. 36

D. 37

Answer: B

Watch Video Solution

[Fe(CN)6]
3 −

7. Coordination number of  in  is:

A. 3

Ni [Ni(C2O4)3]
4 −

https://dl.doubtnut.com/l/_D3xmf4RQJyMf
https://dl.doubtnut.com/l/_c00yRKrjC6RW


B. 5

C. 4

D. 6

Answer: D

Watch Video Solution

8. According to Lewis the ligands are

A. Acidic in nature

B. Basic in nature

C. Neither acidic nor basic

D. Some are aceidic and others are basic

https://dl.doubtnut.com/l/_c00yRKrjC6RW
https://dl.doubtnut.com/l/_9Yc1wJH63ggu


Answer: B

Watch Video Solution

9. According to the postulates of Werner for

cooedination compounds

A. Primary valency is ionizable

B. Secondary valency is ionizable

C. Primary and secondary valency are non-ionizable

D. Only primary valency is non-ionizable

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_9Yc1wJH63ggu
https://dl.doubtnut.com/l/_aGoTQdNdQumI


10. In ,the number of covalent bonds is

A. 18

B. 6

C. 9

D. 3

Answer: A

Watch Video Solution

[Co(NH3)6]Cl3

https://dl.doubtnut.com/l/_aGoTQdNdQumI
https://dl.doubtnut.com/l/_WUM4JpEnUwPu


11. Chemical formula for in iron(III) hexacyanoferrate(II)

is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Fe[Fe(CN)6]

Fe3[Fe(CN)6]

Fe3[Fe(CN)6]4

Fe4[Fe(CN)6]3

12. IUPAC name of  isNa3[Co(NO2)6]

https://dl.doubtnut.com/l/_GYi3soRsoj1E
https://dl.doubtnut.com/l/_WiMtypTNUkvu


A. Sodium cobaltinitrite

B. Sodium hexanitritocobaltate (III)

C. Sodium hexanitrocobalt (III)

D. Hexanitrosodium cobaltate (III)

Answer: B

Watch Video Solution

13. Ligands in a complex salt are:

A. anions linked by co-ordinate bonds to a central

metal atom or ion

https://dl.doubtnut.com/l/_WiMtypTNUkvu
https://dl.doubtnut.com/l/_ZSrNTyD7XfJj


B. cations linked by co-ordinate bonds to a central

metal or ion

C. ions or molecules linked by co-ordinate bonds to

a central atom or ion

D. molecules linked by co-ordinate bonds to a

central metal or ion

Answer: D

Watch Video Solution

14. The IUPAC name of  is

A. Potassium trioxalatoiridium (III)

K3[Ir(C2O4)3]

https://dl.doubtnut.com/l/_ZSrNTyD7XfJj
https://dl.doubtnut.com/l/_PlYwODtc6ogk


B. Potassium trioxalatoiridate (III)

C. Potassium tris (oxalato) iridium (III)

D. Potassium tris (oxalato) iridate (III)

Answer: B

Watch Video Solution

15. In , the isorerism shown is

A. Optical

B. Geometrical

C. Ligand

D. Ionization

[Cr(C2O4)3]
3 −

https://dl.doubtnut.com/l/_PlYwODtc6ogk
https://dl.doubtnut.com/l/_Zi6JpjMkRDuw


Answer: A

Watch Video Solution

16. Which of the following complex will show

geometrical as well as optical isomerism

(en=ethylendiammine)

A. 

B. 

C. 

D. 

Answer: D

[Pt(NH3)Cl4]

Pt(NH3)2Cl2

[Pt(en)3]
4 +

[Pt(en)2Cl2]

https://dl.doubtnut.com/l/_Zi6JpjMkRDuw
https://dl.doubtnut.com/l/_eaMU77xWi8SM


View Text Solution

17. A coordination compound of cobalt has the

molecular, formula containing five ammonia molecules,

one nitro group and two chlorine atoms for onew

cobalt atom. One mole of this compounds three ions in

an aqueous solution. On reacting this solution with

excess of  solution, we get two moles of AgCI

precipitate. The ionic formula for this complex would

be

A. 

B. 

C. 

AgNO3

[Co(NH3)4NO2Cl][(NH3)Cl]

[Co(NH3)5(NO2)]Cl2

[Co(NH3)5][(NO2)2Cl2]

https://dl.doubtnut.com/l/_eaMU77xWi8SM
https://dl.doubtnut.com/l/_ue9YJIcbRpga


D. 

Answer: B

Watch Video Solution

[Co(NH3)5Cl][Cl(NO)2]

18. The number of isomers exhibited by

 is

A. 5

B. 4

C. 3

D. 2

[Cr(NH3)3Cl3]

https://dl.doubtnut.com/l/_ue9YJIcbRpga
https://dl.doubtnut.com/l/_hUs9UFzpsVXt


Answer: A

Watch Video Solution

19. Which of the following will give maximum number

of isomer ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[Ni(en)(NH3)4]
2 +

[Ni(C2O4)(en)2]

[Co(NH3)4Cl2]

[Cr(SCN)2(NH3)4]
2 +

https://dl.doubtnut.com/l/_hUs9UFzpsVXt
https://dl.doubtnut.com/l/_7UAP5TcFKc6W


20. The compounds  and 

 constitutes a pair of

A. Linkage isomers

B. Ionisation isomers

C. Co-ordination isomers

D. Optical isomers

Answer: B

Watch Video Solution

[PtCl2(CH3)4]Br2

[PtBr2(NH3)4]Cl2

https://dl.doubtnut.com/l/_7UAP5TcFKc6W
https://dl.doubtnut.com/l/_cVehMHarFeAb


21. A similarity between optical and geometrical

isomerism is that

A. each gives equal number of isomers for a given

compound

B. if in a compound one is present then so is the

other

C. both are included in stereoisomerism

D. they have no similarity

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TuOnHg6y3smY
https://dl.doubtnut.com/l/_UW8K5mLxrLNz


22. The type of isomerism present in intro pentaamine-

chromium chloride is:

A. Ionization

B. Optical

C. Linkage

D. Polymerization

Answer: C

Watch Video Solution

(III)

23. Which of the following has square planar structure

?

https://dl.doubtnut.com/l/_UW8K5mLxrLNz
https://dl.doubtnut.com/l/_crcylerVmn8b


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[NiCl4]2 −

[Ni(CO)4]

[Ni(CN)4]
2 −

[Ni(H2O)6]
2 +

24. The unpaired electrons in  are

A. Zero

B. One

C. Three

Ni(CO)4

https://dl.doubtnut.com/l/_crcylerVmn8b
https://dl.doubtnut.com/l/_h4K8BhPvYI6Y


D. Four

Answer: A

Watch Video Solution

25. Which of the following species represent the

example of -hybridisation ?

A. 

B. 

C. 

D. 

dsp2

[Fe(CN)6]
3 −

[Ni(CN)4]
2 −

[FeF6]3 −

[Zn(NH3)4]
2 +

https://dl.doubtnut.com/l/_h4K8BhPvYI6Y
https://dl.doubtnut.com/l/_VoSWx9MM7NCC


Answer: B

Watch Video Solution

26. The correct structure of  is (Z= 26 for Fe)

A. Square pyramidal

B. Trigonal pyramidal

C. Octahedral

D. Tetrahedral

Answer: B

Watch Video Solution

Fe(CO)5

https://dl.doubtnut.com/l/_VoSWx9MM7NCC
https://dl.doubtnut.com/l/_dC4SSbOb4jTQ


27. Which one of the following is an example of

octahedral complex ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Zn(NH3)4]
2 +

[Cu(NH3)4]
2 +

[FeF6]3 −

[Ni(CN)4]
2 −

28. Which of the following is paramagnetic ?

https://dl.doubtnut.com/l/_zk9Ni5DqlcYL
https://dl.doubtnut.com/l/_PcUlaCReLsHh


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[Ni(CO)4]

[Fe(CN)6]
4 −

[Ni(CN)4]
2 −

[CoF6]3 −

29. Which statement is incorrect ?

A.  Tetrahedral, paramagnetic

B.  Square planar, diamagnetic

C.  Tetrahedral, diamagnetic

Ni(CO)4 −

[Ni(CN)4]
2 −

Ni(CO)4 −

https://dl.doubtnut.com/l/_PcUlaCReLsHh
https://dl.doubtnut.com/l/_1njKFMSmwSLG


D.  Tetrahedral, paramagnetic

Answer: A

Watch Video Solution

[NiCl4]2 −

30. Consider the following complex

 


The coordination number, oxidation number number of

d-electrons and number of unpaired d-electrons on the

metal are respectively

A. 6, 3, 6, 0

B. 6, 2, 7, 3

[Co(NH3)5CO3]ClO4

https://dl.doubtnut.com/l/_1njKFMSmwSLG
https://dl.doubtnut.com/l/_m3rcMY5V7tZY


C. 7, 3, 7, 1

D. 7, 1, 6, 4

Answer: A

Watch Video Solution

31. Which of the following will exhibit maximum ionic

conductivity ?

A. 

B. 

C. 

D. 

K4[Fe(CN)6]

[Co(NH3)6]Cl3

[Cu(NH3)4Cl2]

[Ni(CO)4]

https://dl.doubtnut.com/l/_m3rcMY5V7tZY
https://dl.doubtnut.com/l/_cwhyz8XuRLX8


Answer: A

Watch Video Solution

32. The catalyst used for the polymerization of olefins

is:

A. Wilkinson's catalyst

B. Pd-catalyst

C. Zeise's salt catalyst

D. Ziegler-Natta catalyst

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cwhyz8XuRLX8
https://dl.doubtnut.com/l/_wYOzioxBoSH4


33. Which of the following hydrate is diamagnetic ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[Co(NH3)6]
3 +

[Mn(H2O)6]
2 +

[Co(H2O)6]
2 +

[Cu(H2O)6]
3 +

https://dl.doubtnut.com/l/_wYOzioxBoSH4
https://dl.doubtnut.com/l/_y2KQNbCiq1V6


34. Which of the following compounds is not coloured

?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Na2[CuCl6]

K3[Fe(CN)6]

Na2[CdCl4]

K4[Fe(CN)6]

35. The colour of  isCoCl3 ⋅ 5NH3 ⋅ H2O

https://dl.doubtnut.com/l/_DtYanaWINZxm
https://dl.doubtnut.com/l/_uAvnVVzcSmeZ


A. Orange

B. Orange yellow

C. Green

D. Pink

Answer: D

Watch Video Solution

36. The most satble complex among the following is

A. 

B. 

C. 

K3[Al(C2O4)3]

[Pt(en)2]Cl

K2[Ni(EDTA)]

https://dl.doubtnut.com/l/_uAvnVVzcSmeZ
https://dl.doubtnut.com/l/_kj3TqXqQbuJK


D. 

Answer: C

Watch Video Solution

[Ag(NH3)2]Cl

37. Magnesium is an important component of which

biomolecule occuring extensively in living world?

A. ATP

B. Chlorophyll

C. Florigen

D. Haemoglobin

https://dl.doubtnut.com/l/_kj3TqXqQbuJK
https://dl.doubtnut.com/l/_pS6Non5KBfoe


Answer: B

Watch Video Solution

38. In the silver plating of copper,  is used

instead of  . The reason is

A. More voltage is required

B.  ions are completely removed from solution

C. A thin layer of Ag is formed on Cu

D. Less availability of  ions, as Cu cannot

displace Ag from  ion

Answer: D

K[Ag(CN)2]

AgNO3

Ag+

Ag+

[Ag(CN)2]
−

https://dl.doubtnut.com/l/_pS6Non5KBfoe
https://dl.doubtnut.com/l/_9QTZlnaKdY9O


Watch Video Solution

39. Which of the following is organo-metallic

compound ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ti(C2H4)4

Ti(OC2H5)4

Ti(OCOCH3)4

Ti(OC6H5)4

https://dl.doubtnut.com/l/_9QTZlnaKdY9O
https://dl.doubtnut.com/l/_PyUuKgGOQ0ZQ
https://dl.doubtnut.com/l/_ztzW6RtU1SZ4


40. Which of the following organometallic compound is

 and -bonded?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

σ π

[Fe(η5 − C5H5)2
]

[PtCl3(η
2 − C2H4)]

[Co(CO)5NH3]
2 +

Al(CH3)3

https://dl.doubtnut.com/l/_ztzW6RtU1SZ4

